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ex: 0(3n%logn + 2n%? + 4n + logn) = 0(n%logn)
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import time
timel=time.time()
==

n:
mod= +

X=ax**n
time2=time.time()
k=

y=axxn
time3=time.time()
print(time2-timel)
print(time3-time2)




import time
timel=time.time()
a=880301

n=26
mod=1e9+7/

X=a**n
time2=time.time()
nN=1000026

y=axxn
time3=time.time()

print(time2-time1) 2.86102294921875e-06
print(time3-time2) 4.153032302856445
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g
* gcd(p, q):
if g =
return D
else:

return gcd(q, p / q)
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° fib(n):

if n

else:
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= 1 or 2:
return 1
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return fib(n - 1) + flb(n - 2)
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e« 2. top()
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vector<int> f(int n) {
vector<int> cnt(n + 1);
(int i = 1; 1 <= n; i++)
(int j = 1; j <=n; j += i)

cnt[j]++;
cnt;
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vector<int> f(int n) {
vector<int> cnt(n + 1);
(int 1 = 1; 1 <= n; i++)
(int j = 1; j <=n; j += i)

cnt[j]++;
cnt;
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vector<int> f(int n) {
vector<int> cnt(n + 1);
(int i = 1; 1 <= n; i++)

(int 7 = 1; j <= n; j += i)
cnt[j]++;
cnt;
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* NP-Complete
* NP SPERZEAVRIRE

NP-Hard

NP-Complete

NP-Hard

P=NP
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Credit: https://en.wikipedia.org/wiki/P_versus_NP_problem#/media/
File:P_np_np-complete_np-hard.svg
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~ P=INP

If P = NP, then the world would be a profoundly
different place than we usually assume it to be.
There would be no special value in "creative
leaps,” no fundamental gap between solving a
problem and recognizing the solution once 1it's
found. Everyone who could appreciate a symphony
would be Mozart; everyone who could follow a step-
by-step argument would be Gauss; everyone who
could recognhize a good investment strategy would
be Warren Buffett.

by Scott Aarons



